
Page 1 of 3

Product Support
MY21 Procaliber Parts Quick Reference



revision 22 . Jun . 2020

Page 2 of 3

Product Support
MY21 Procaliber Parts Quick Reference Item Description Part Number Qty Note

1 Knock Block Frame Chip
536723 (kit)

1
2 M4x16mm Bolt 1
3 IsoSpeed Grommet W599977 1
4 Pivot Sleeve

525638 (kit)

1
5 IsoSpeed Washer 1
6 IsoSpeed Bearing 2
7 IsoSpeed Bolt 2 8Nm
8 Derailleur Hanger W600660 1 25Nm
9 Thru Axle 12x174mm M12x1.0 W600321 1 10Nm
10 Upper Chainstay Guard W582883 1
11 Lower Chainstay Guard W600295 1
12 Lower Downtube Guard W599975 1
13 Upper Downtube Guard W582884 1

3 5

2
1

7
6

8

4

9

76

10

11

12

13

COMPLETE BILL OF MATERIAL
ITEM 
NO.

PART 
NUMBER DESCRIPTION QTY. INSTALLATION 

NOTES SHEET

 2084U0421 FRAME ASSEMBLY, 2021 PROCALIBER, SIZE 
LARGE 1

2

1 542756 STEER STOP CHIP [ROUNDED CORNERS NO 
BUMPERS] 1

2 532763 BOLT, M4x0.7x16mm, FLAT HEAD SOCKET, SS 
304, BLACK TUFFTRIDE FSA 1

3 599977 ISOSPEED GROMMET, RUBBER, PROCALIBER 
CARBON, 2021 1

INSTALL BEFORE 
ALL OTHER 

ISOSPEED HW

4 532084 PROCALIBER SEAT TUBE PIVOT SLEEVE 
shorter, based on 517004 1 INSTALL FROM 

DRIVESIDE

5 314883 ENDURANCE TUBE PIVOT LOCATING 
WASHER 1

6 314882 19mm X 10mm X 5mm Enduro Bearing 
(6800 2RS MAX) 2

7 517005 PROCALIBER PIVOT BOLT 2 TORQUE TO 8Nm

8 600660 DERAILLEUR HANGER, UDH, M12X1.0 
THREAD, 12MM THRU AXLE, 25MM WASHER 1

LEFT-HAND 
THREAD,    

TORQUE TO 25Nm

2
9 600321

REAR AXLE, BONTRAGER, SWITCH LEVER 
12MM HOLLOW THRU AXLE ONLY, W/O 

LEVER TOOL, 2020, GLORY WHEEL, ALLOY, 
12x174MM, M12X1.0X15MM, POLISHED 
BLACK ANO, LASER BONTRAGER AND 

DIMENSIONS

1 TORQUE TO 10 Nm

10 600649 PLUG, DROPPER POST HOUSING ENTRANCE, 
2021 PROCALIBER CARBON 1 X 3

14 582884 XC DT GUARD 1 X

4
13 599975 DOWNTUBE GUARD, 2021 PROCALIBER 

CARBON 1 X

11 582883 SUPERCALIBER CHAIN SLAP GUARD 1 X

12 600295 LOWER CHAINSTAY GUARD, PROCALIBER 
CARBON, 2021 1 X



revision 22 . Jun . 2020

Page 3 of 3

Product Support
MY21 Procaliber Parts Quick Reference

DROPPER SEAT POST
HOUSING, IF APPLICABLE

REAR SHIFT
HOUSING

REAR BRAKE
HOSE

INSTALL PLUG ON DS
HOLE IF DROPPOER POST 
NOT USED

W600649

HOUSING TYPE COLOR
REAR BRAKE BLUE
REAR SHIFT RED

DROPPER POST BLACK

ITEM NO. PART NUMBER DESCRIPTION QTY. INSTALLATION NOTES

11 600649
PLUG, DROPPER POST HOUSING 
ENTRANCE, 2021 PROCALIBER 

CARBON
1 OPTIONAL PLUG, USE IF DROPPER POST HOUSING NOT 

APPLICABLE

C:\TrekEPDM\00_Project Folders\2021\Frame-MTB_X0&X1nn\2084XXX21 Carbon XC Hardtail\Production Engineering\SW Drawing Files\ Print Date: Monday, June 22, 2020


